THC

THC
-55 10 15
EF ax 1/V B EF a B
-55 THC
S8 & 29[8]8
SN EAR AR
3 V5

S50 2 9 - 2 2| 2] 2| - 1
H12 1 1 - - | - 1 -1 -1 -
S50 48| 371 25| 24| 41/162| 63| 44| 12
H12 2 4 - 1 1 1 1] -] -

25
TLEV H12 9 55 3| 4| 6] 27, 8| 7| -

50
LEV H12 3 12 - 1 1 4 2 1] 3
S50 3 27 1] 3] 5 10 5 2 1
H10 6 19 20 1] 1 9 2 1 3
S50 6 42 4 4] 2| 14 8| 4] 6
H10 5 17 - 2 2 100 2] 1] -
H4 9 72 5 5 6] 28 15| 7| 6
H10 1 1 - - | - - 1 - | -
LPG H4 4 36 - -1 -13 -1-1-
S61 3 14 - - 1] 100 2| 1| -
H6 5 9 - - | - 7 1] 1) -
S61 16| 122 9 9 16 44| 26| 13| 5
S63 12| 108 8 8 11| 39 22| 12| 8
H5 17] 137 10| 12| 17| 51| 25| 16| 6
H5 2 10 - 20 2 4 2 -] -
549 6 17 - 1 - 12| 3| - 1
H6 29[ 216 15| 18| 24| 75| 44| 28| 12
549 1 7 1] 1) - 2] 1 1] 1
GVW2.5t 5t H6 18] 129 9| 11| 13| 52| 26| 13| 5
549 6 5 - - | - 5| - | - | -
GVW5 12 H6 34| 254 17/ 23] 30| 91| 49| 33| 11
549 6 19 - 5 4 6] 2| 2| -
GVW12t H6 32| 277 18| 25| 411102 45| 44 2
CNGJ|CNG H6 1 7 1 1 - 20 1 1 1
287] 1,997 128| 163| 226 806| 358| 232| 84
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